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3RWHQVL� SDVDU� \DQJ� EHVDU GDODP� LQGXVWUL� PDUNHWSODFH� WHUQ\DWD� EHOXP� PDPSX�

GLPDQIDDWNDQ� GHQJDQ� EDLN� ROHK� %XNDODSDN� VHEDJDL� VDODK� VDWX� SHPDLQQ\D�� 3HUIRUPD�

%XNDODSDN� PDVLK� EHOXP� RSWLPDO�� GLOLKDW� GDUL� SHUEDQGLQJDQ� QLODL� PDUNHW� VKDUH DQWDU�

SHPDLQ�GDQ MXJD�FRQYHUVLRQ�UDWH \DQJ�GLKDVLONDQ��3HUVDLQJDQ�LQGXVWUL�PDUNHWSODFH \DQJ�

VHPDNLQ� NHWDW� SXQ� MXJD DNDQ� PHQMDGL� DQFDPDQ NHGHSDQQ\D EDJL� %XNDODSDN�� *XQD�

PHQLQJNDWNDQ� SHUIRUPD� ELVQLVQ\D� XQWXN� EHUVDLQJ� GL� LQGXVWUL� LQL�� PDND� %XNDODSDN�

PHPEXWXKNDQ�VHEXDK�VWUDWHJL�SHPDVDUDQ�\DQJ�EDUX� 7XMXDQ�SHQHOLWLDQ�LQL�DGDODK�XQWXN�

PHUXPXVNDQ� VXDWX� VWUDWHJL� SHPDVDUDQ� EDJL� %XNDODSDN� GDODP� WLJD� WDKXQ� NHGHSDQ��

3HQHOLWLDQ�LQL�PHQJJXQDNDQ�SHQGHNDWDQ�DQDOLVD�SRUWIROLR�*(�0FNLQVH\���GHQJDQ�PHOLKDW�

NRQGLVL� NHPHQDULNDQ� �PDUNHW�DWWUDFWLYHQHVV� SDVDU�PDUNHWSODFH GDQ�EDJDLPDQD SRVLVL�

SHUVDLQJDQ� �FRPSHWLWLYH� SRVLWLRQ� %XNDODSDN� GLEDQGLQJNDQ� GHQJDQ� VLWXV�PDUNHWSODFH

ODLQQ\D�� 0HWRGRORJL� \DQJ� GLJXQDNDQ� DGDODK� RQOLQH� VXUYH\ WHUKDGDS� ���� UHVSRQGHQ��

ZDZDQFDUD� GHQJDQ� SLKDN� %XNDODSDN�� GDQ� MXJD� KDVLO� ULVHW� ODLQQ\D�� %HUGDVDUNDQ� KDVLO�

DQDOLVD� SRUWIROLR� GLNHWDKXL� EDKZD� %XNDODSDN� PHPLOLNL� QLODL� 0$,� ������ &$,� ������� GDQ�

EHUDGD� GL� NXDGUDQ� ��� 'DUL� EHEHUDSD� SLOLKDQ� UHQFDQD� VWUDWHJL� WHODK� GLSLOLK� VDWX� \DQJ�

SDOLQJ�WHSDW�GHQJDQ�PHQJJXQDNDQ�DQDOLVD�NHSXWXVDQ�\DLWX�%XLOG�0DUNHWLQJ�$GYDQWDJH��

5HQFDQD� LPSOHPHQWDVL� WHODK� GLEXDW� GHQJDQ� WXMXDQ� XQWXN� PHPEHULNDQ� NHXQJJXODQ�

GDODP� VHPXD� DVSHN� SHPDVDUDQ�� GLDQWDUDQ\D� PDUNHW� VKDUH�� EUDQG� DZDUHQHVV�� GDQ�

GLVWULEXWLRQ�

.DWD� NXQFL� �� VWUDWHJL� SHPDVDUDQ�� H�FRPPHUFH�� SRUWIROLR� DQDO\VLV�� PDUNHWSODFH� RQOLQH�

%XNDODSDN�FRP


